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SBREGERTLE | amy—cas | v—Ccxipg | zMmA | ocsmas | o FBER -
BRFHTRVA (7THS) (1) NS 1 BEME  [BREME L | Lraiosm | (1590 =
o |HERBMEZE 3,157 154 0 464 8,771 11,130 23,676
EXE —
ZRE 3,157 154 0 464 6,405 11,130 21,310
= |EERBEE 3,927 154 0 571 8,771 11,130 24,553
Exige L=
ZRE 3,927 154 0 571 6,405 11,130 22,187
- PERIUEE 4,221 154 91 625 8,771 11,130 24,992
ENE —
ZRE 4,221 154 91 625 6,405 11,130 22,626
- PERIUEE 4,704 154 91 693 8,771 11,130 25543
ENiE2 —
ZRE 4,704 154 91 693 6,405 11,130 23,177
- PERIUEE 5215 154 91 764 8,771 11,130 26,125
ENES —
ZRE 5,215 154 91 764 6,405 11,130 23,759
- PERIUEE 5,705 154 91 833 8,771 11,130 26,684
ENiga —
ZRE 5,705 154 91 833 6,405 11,130 24,318
- PERIUEE 6,188 154 91 901 8,771 11,130 27,235
ENES —
ZIRE 6,188 154 91 901 6,405 11,130 24,869
EIREEDHD (TR | TEITERR | v—EREM | EMMA nEmag | BEE st
(1D AIME 1 EEME |LEREMED | guea30m) (1300F4) o
=, |HERBE=E 3,157 154 0 464 6,160 9,100 19,035
EXiE1 —
ZRE 3,157 154 0 464 3,010 9,100 15,885
= |TEREEE 3,927 154 0 571 6,160 9,100 19,912
Txigy (o=
ZIRE 3,927 154 0 571 3,010 9,100 16,762
- HERTUA=E 4,221 154 91 625 6,160 9,100 20,351
ENE —
ZRE 4,221 154 91 625 3,010 9,100 17,201
- HERTUA=E 4,704 154 91 693 6,160 9,100 20,902
ENiE2 —
ZKRE 4,704 154 91 693 3,010 9,100 17,752
- HERTUA=E 5215 154 91 764 6,160 9,100 21,484
ENiEs —
ZKRE 5215 154 91 764 3,010 9,100 18,334
- HERTUE=E 5,705 154 91 833 6,160 9,100 22,043
ENE4 —
ZKRE 5,705 154 91 833 3,010 9,100 18,893
- HERTUE=E 6,188 154 91 901 6,160 9,100 22,594
ENEES —
ZIRE 6,188 154 91 901 3,010 9,100 19,444
EIREEDHD (TR | TEYTERR | v—ERER | EMEA rEmag | EER st
(1) AN 1 EREME |LEREMHED | guea30m) (1,000M) =
=, |EREEE 3,157 154 0 464 6,160 7,000 16,935
EXE —
ZIKRE 3,157 154 0 464 3,010 7,000 13,785
= |TEREEE 3,927 154 0 571 6,160 7,000 17,812
EXE2 —
ZIRE 3,927 154 0 571 3,010 7,000 14,662
- HERTUE=E 4,221 154 91 625 6,160 7,000 18,251
ENE —
ZIRE 4,221 154 91 625 3,010 7,000 15,101
e, |[EREEE 4,704 154 91 693 6,160 7,000 18,802
gﬁﬁxz —
ZIRE 4,704 154 91 693 3,010 7,000 15,652
e, [EREEE 5215 154 91 764 6,160 7,000 19,384
gﬁﬁx:; —
ZIRE 5215 154 91 764 3,010 7,000 16,234
e, |[EREEE 5,705 154 91 833 6,160 7,000 19,943
gﬁﬁx“ —
ZIRE 5,705 154 91 833 3,010 7,000 16,793
e |[EREEE 6,188 154 91 901 6,160 7,000 20,494
gﬁEXS —
ZIRE 6,188 154 91 901 3,010 7,000 17,344
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B2REDTI (7B (18) whns | | mEms | msamws | SN | eeom) AR
=g HERBUEZE 3,157 154 0 464 3,360 2,730 9,865
ZIRE 3,157 154 0 464 3,010 2,730 9,515
E=wiEo RERBUEZE 3,927 154 0 571 3,360 2,730 10,742
ZIRE 3,927 154 0 571 3,010 2,730 10,392
=451 RERBUEZE 4,221 154 91 625 3,360 2,730 11,181
ZIRE 4,221 154 91 625 3,010 2,730 10,831
=450 EREUEE 4,704 154 91 693 3,360 2,730 11,732
i ZIRE 4,704 154 91 693 3,010 2,730 11,382
=453 PEREUE= 5215 154 91 764 3,360 2,730 12,314
i ZIRE 5215 154 91 764 3,010 2,730 11,964
=454 PEREUE= 5,705 154 91 833 3,360 2,730 12,873
i ZIRE 5,705 154 91 833 3,010 2,730 12,523
=455 PEREUE= 6,188 154 91 901 3,360 2,730 13,424
] ZIRE 6,188 154 91 901 3,010 2,730 13,074

wBRORTAN) | TR USRS | EEne  |nEusmwi| ssoem | oom | BF
=g PERBREE 3,157 154 0 464 2,660 2,100 8,535
ZIRE 3,157 154 0 464 0 2,100 5,875
EwiEo HEREE = 3,927 154 0 571 2,660 2,100 9,412
ZIRE 3,927 154 0 571 0 2,100 6,752
=45 MERBEE 4,221 154 91 625 2,660 2,100 9,851
i ZIRE 4,221 154 91 625 0 2,100 7,191
=580 ERBE=E 4,704 154 91 693 2,660 2,100 10,402
i ZIRE 4,704 154 91 693 0 2,100 7,742
=53 MERBEE 5215 154 91 764 2,660 2,100] 10,984
i ZIRE 5215 154 91 764 0 2,100 8,324
=154 MERBEE 5,705 154 91 833 2,660 2,100] 11,543
i ZIRE 5,705 154 91 833 0 2,100 8,883
=585 MERBEE 6,188 154 91 901 2,660 2,100] 12,094
] ZIRE 6,188 154 91 901 0 2,100 9,434
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